SOUTH EAST CENTRAL RAILWAY

WRITTEN EXAMINATION TO ADJUGE SUITABILITY FOR THE APPOINTMENT ON
COMPASSIONATE GROUND IN GROUP [PAPER-I]

I TS TYRIRYUH AG i ferufrRITUI AT IS T [ TUR-1]

Time / T93 : 03 Hours / B¢ Date / f&HTi :12/06/2023 Total Marks / $3{d-100

Instructions / GF-[&QT :

1. This question paper contains 100 objective type questions. All the questions are compulsory
in nature. All questions carry 01 mark.

TAYY-TAH 100a%gA8YE [Hiussiaris mfiusolsieaTs |
2. The question paper has been divided into two parts i.e. Part- A (to be answered in English
language only) and Part- B (to be answered in Hindi or English).

YA HTT AT HTT- T H SIS U SIaTa Ao dTe ) SR HTT- &t
(RarsiehaaEfeasaeare) Afviafearmarg|

3. Use of calculator, mobile phones and any other electronic gadget is strictly prohibited in the
examination hall.

A T[RRI ) AU I R e o N K B G E el I R E R S A R R R S IR EIRG

4. Candidate will attract disqualification if found using any foul means.

SHGaRATCP IS HUCYUNRITTHTS U N THRATIT TAT [8 36 GRS B TUTAG T,

Part-A (English Language Test, to be answered in English only)

1. which city is the capital of chattisgarh ?
a) chirmiri
b) raipur
c) jagdalpur
d) ambikapur

2. Which of the following is used for playing cricket?
a) Cat
b) Dog
c) Ball
d) Hat
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3. How many legs does a cat have?
a) Two
b) Four
c) Six
d) Eight

4. Which word rhymes with *'sun*'?
a) Run
b) Sit
c) Bed
d) Book

5. What is the opposite of *"hot""?
a) Big
b) Cold
c) Small

d) Fast

6. Which of the following is a fruit?
a) Carrot
b) Banana
c) Potato

d) Broccoli

7. What color is forest in rainy season?
a) Yellow
b) Green
c) Blue
d) Red
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8. What is the name of the season when temperature is highest?
a) Spring
b) Summer
c) Autumn

d) Winter

9. Which animal can fly?
a) Elephant
b) Fish
c) Bird
d) Lion

10. Which of the following is a shape with three sides?
a) Square
b) Circle
c) Triangle

d) Rectangle

11. How many days are there in a week?
a) Five
b) Six
c) Seven

d) Eight

12. Which word does not belong with the others?
a) Apple
b) Orange
c) Carrot

d) Banana
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13. Which of the following is a color?
a) Chair
b) Desk
c) Blue
d) Book

14. What is the opposite of "*big**?
a) Small
b) Tall
c) Fast

d) Heavy

15. Which of the following is a number?
a) Cat
b) House
c) Three
d) Tree

16. What do we call the person who flies an airplane?
a) Driver
b) Pilot
c) Teacher

d) Doctor

17. Which of the following is a mode of transportation?
a) Chair
b) Table
c) Car
d) Lamp
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18. How many fingers does a person have on one hand?
a) Two
b) Three
c) Four

d) Five

19. Which word represents an animal?
a) Bed
b) Red
c) Hat
d) Cat

20. What is the name of the planet we live on?
a) Moon
b) Mars
c) Earth
d) Sun

Part-B (to be answered in Hindi or English)

21. THASHI12 [t/ avers s dug g erg20 feddre [afesw1s

(A) 14 Km/hr fobdl/aoer - (B) 15 Knv/hr fodi/aroer
(C) 16 Km/hr fopdii/auer (D) 18 Kmivhr fobdt/awer

22. Wﬁwuﬂ*ﬁ‘wmﬂuﬂq, & If the side of a square is doubled, then the area will
be---

(A) Doubles /SRR (B) 4 times/ 4 TGS
(C) 8 times /8 TATRIATE (D) 16 times /16 TATEIATE
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23. 2208BT15%="? 15% of 220 is = ?
(a) 33 (b) 22 () 24 (d) 26

24. 450 YSHY30% ﬂ@@'@lﬁﬁﬁ@aﬁﬁ? 30% of 450 apples are rotten. How many apples are

fine?
(@) 135 (b) 140 (c) 125 (d) 315
25.8888+888+88+8="

(a) 9784 (b) 9792 (c) 9072 (d) None of these / STHIB I8!

26. 100 x 10 — 100 + 2000 / 100 fHHBHERTSRGRT?
(a) 20 (b) 920 (c) 980 (d) 1000

27. Uh oA U= fIesT1/4 HRTSU-TEIAT, v S gAidIfearaiRy/s
QBRI IdqddR, dHQg)ﬂlra?ddl‘-ﬂTl%{m? A man gave 1/4th of his property to his daughter,
1/2 to his sons and 1/5th to charity. Accordingly, how much did he give in total?

() 1/20 (b) 19/20  (c) 1/10 (d) 9/10

[l =N o

28 UHIAITATHE5 TSDHd35 TS [BUHIATAT B UG [AS DB HTEUT 3 40%

TS (BT BTHIAUT 3FH60% UT, AAATTTHTSNITITG B UIRITHIATSY | In a school, 85 boys
and 35 girls took a public examination. If the mean marks obtained for boys was 40% and that of
girls was 60%, then what is the average marks obtained in the school in percentage.

() 50.60  (b) 54.16 (c)45.83  (d) 48.53

29. DHISYRIRRRAHATNIR20 THHGNHIBISTG IfPaTauHagaRIAGT? A sum of money

doubles itself in 20 years at simple interest. In how many years will it be four times?

(a) 40 (b) 50 (c) 60 (d) 80

[

30. SFERATH AT B GG D IaGR5% & TG (b RTERe [ HTTowREAT140000 &,

d\ldnlddBI%@IIQGHQIGM;I\MHMIWI‘J-I1I|35E|-'-i|€IG|IQ1i|? The rate of annual growth of population is
5%. If the present population of a city is 140000, then after three years the population of that city
will be approximately?

(a) 164000  (b) 153000 () 162000  (d) 157000
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31. 108 HTHHITH LA 20 hHUS ATl B UBEH D IURBISI 18 RS B aTaaig? A 108

meter long train crosses an electric pole in 20 seconds. What is the speed of the train?
(a) 36.5 Km/hr fHl/aUer  (b) 32.4 Knv/hr Tt /erueT
(c) 60 Km/hr fobdfl/aoer  (d) 28.6 Knvhr Tt eruet

32. THHGIOI® D S, 750 4% BRSNS [SUBIAHIHIRTT? A table costing Rs. 750

was sold at 4% loss. What was his selling price?

@3T.746  (0).730 (€)3.780  (d) . 720

33. T HETH15 TSHIBIAdSm]11 avg [afeo avfhs dedhdmemsiRafmfidaley,
33D ISNTAGERT- The average age of 15 boys in a class is 11 years. If 5 more boys of 9
years old join the class, then their average age now will be-

(a) 20 years GL (b) 10 years Gl (c) 10.5 years Y (d) 10.33 years CL

34. Tf18 TS NBTH A5 TS BAH B aRIERE, AUTTRATATHRBINRTTI If the cost price

of 18 articles is equal to the selling price of 15 articles, find the percentage profit.

(a) 20 (b)162/3  (c) 25 (d) 15

35. AT HIRH S IR 144 RMIRE I 18dRIMIRE, AIhdRAG A B a-S g2 Ram is
14th from the top and 18th from the bottom in his row, then how many students are there in the row?

(a) 31 (b) 30 (c) 32 (d) 29

36. (m® — 4m) %IUFIEUS%— The factors of (m?® — 4m) are-
@ m(m+2) (m+2) (b) m(m2/ 4)
(¢) m(m—2) (m+2) (d) m(m+2) (m-2)

37. 8 TPNIBISGAHRL.5 [P UTagoTdiesiauhTarg3u65
3

PRI FIs RITTUR TSITATe [T GIhTHREATSY | The average weight of 8 men is
increased by 1.5 kg when a new male replaces the man weighing 65 kg. What is the weight of the
new person.

(a) 70 Kg foam (b) 74 Kg T3m (c) 76 Kg foam (d) 77 Kg fopam
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38. 20 YHiix10 YtPifbra-igeias Hix16 Hibmriwefamars e die? How many bricks of 20

c¢m x 10 cm can be used to make a floor of 25 m x 16 m?

() 30000  (b) 20000  (c) 25000  (d) 40000

39. IRAMISTITD IS HT: 180 HiAuT220 W7, Th-GaRe IAURIdGRIHGHH: 40
forHl/aueTds0 forHl/aueTh aTRIGIS G 6 [ Uh- GER® RGN [ a T aHITH T2 Two trains

whose lengths are 180 m and 220 m respectively are running in opposite direction to each other with
velocities of 40 km/h and 50 km/h respectively. How long will it take to cross each other?

(a) 16 Seconds WUE(b) 17 Seconds YHTS
(c) 18 Seconds W(d) 22 Seconds YHUS

40. freTaiemissy wiemfamrasHthagy, 29% Wigmiforaddurios
WemdfeHahagy, deMiasaafhaIaiaRauelendTargii? In an examination 38% of the

candidates failed in General Knowledge, 29% of the candidates failed in Mathematics and 10% of
the candidates failed in both, then what percentage of the candidates will pass in both the subjects?

(a) 45 % (b) 43 % (c) 50 % (d) 40 %

41. 0.000033/0.11 W’JZIFI%r ? The value of 0.0000033/0.11 is
(a) 0.003 (b) 0.03 (c) 0.0003 (d) 0.3

42. ﬁ'&ﬁﬁﬁ?—@&rlﬂ@ﬂ"@ﬁ? Which of the following is a prime number?

(a) 33 (b) 81 () 93 (d) 97

43. HWW@W@W? What will be the average of the first ten even numbers?
(@ 10 (b) 12.5 (©9 (d) 11

44. FEQ HINYTNSATR, J BIALTUME, T HI3RIGUCH 3RK BTG UG AN30 K 2 Q 3

6 T 5=7If Q means 'to add’, J means 'multiply’, T means 'subtract' and K means 'divide by' then 30
K2Q3J6T5=?

(A): 29 (B): 28 (C): 35 (D): 40

45, Tfe+ w131, — Br3ref +, x B13fR-3MR + FHreid-, AfFFffIdwTRIE g2 I1f + means x, —

means +, x means — and + means +, then what will be the value of the following?
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20+ 4% 6-5+7 =2
(A) 28 (B) 32 (C) 34 (D) 36

46. FEfIRETHIP I UTSIIRSITE? Which of the following is a prime number?

(A) 8 (B) 9 ©) 11 (D) 15

47.91¢ 9=90° I sind- cosd = If 6 =90° then sinB- cosO =

(A) 0 B) 1 ©) -1 (D) %

48.5+3V2 ®:

(A) URTT AT Rational Number (B) 3URTT T Irrational Number

(C) YU Integer (D)STH ¥ ®Ig aI None of the Above

49.91¢ o YT pgEUTd dgUG x2+x-2%F XD & oI, 1/a+1/p BT AF 8 -
If o and P are zeroes of the quadratic polynomial x 2 + X — 2, then the value of 1/ a + 1/ B will be:

(A) Y2 (B)—1/\2 (€1 (D) 2

50. gfc x:a,y:b‘v'ﬂ:ﬁWUT X—y=2ddl x+y:4$ g gl di a3k b HHE HHI:
g:

If x=a,y=Db are solutions of the equations X —y =2 and x + y = 4, then the values of a and b are
respectively:

(A) 3, 5 (B) 3,6 €)3,1 (D)-1,-3

51. 39 49T P ¢W: 36,34, 30, 28, 24, ... AT DI A BT AT AMEY?Look at this
series: 36, 34, 30, 28, 24, ... Which number should come next?

(A) 20 (B) 22 (C) 23 (D) 26

52. 39 §TQT B §W: 22, 21,23,22,24,23, ... AT DI A F=AT AT AMEE?Look at this
series: 22, 21, 23, 22, 24, 23, ... Which number should come next?

(A) 22 (B) 24 (C) 25 (D) 26
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53. R, SRE &1 9 § fou] & unftl o[ SE &1 9 § iR AW @1 sihan
ﬂ-ﬂ'stl R ek &IT{I:[ & T | e %?Sima is Jagdish's daughter-in-law, Vishnu's sister-
in-law. Arjun is the son of Jagdish and the only brother of Vishnu. What is the relation between Sima
and Arjun?

(A o] dgICousine (B) A< Sister-in-law
(C) Udl Wife (D) §g Sister

54.9f¢ KICK &1 KCIK forar SidT 8 MAAN &1 NAAM fo/aT Sirar 8 @ GooD &1 &

foran SITHT ? If KICK is coded as KCIK, MAAN is coded as NAAM then what will GOOD
be written as?
(A)ODOG (B)DOGO (C)DOOF (D)DOOG

55.9f¢ did ®d ¥ @ fa7 ugd AdaR o1, a1 oAl DHH-I1 f&T 8 21f two days before

yesterday was Sunday, what day will it be the day after tomorrow?
(A). §YdIR Wednesday (B). T[®dIX Thursday
(C). R[hdR Friday (D). EUREIN Saturday

56.9f¢ T IR B R U AT B AR Wl §, d g8 darsh fF A i fey

form o % ?1f 1 am standing with my right hand towards the north, then tell me in which direction is
my back?

(A). Tl&mT - tIﬁSouth-East (B). 1ZIQT:fEast
(C). TfgH West (D). ITR-UIHH North West

57. 7 01 ¥ ST § R 9@ 4 Bl gl a1 Jifed ¥ §97 § WRed dip ¥ Bie]
%I SIRRSERS dgl caE % ?Manoj is older than Munna but younger than Cheeku. Munna is older
than Sohil but younger than Cheeku. So who is the biggest?

(A). TS Manoj (B). T Munna (C). ddCheeku (D). IR Sonil

58. Sl @I °c Bl 11% 72del ¥ fbad g Ui BN IHow many revolutions will the

hour hand of a clock complete in 72 hours?
(A) 4 (B)5 (C)6 (D)7
50.3TR UG &1 I8y Il TGS ¥ § ol JoruM &1 day Fofaled & 9 fead

%?If Uttar Pradesh is related to Lucknow, then Rajasthan is related to which of the following?
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(A) STIYR Jaipur (B) 2dleldlq Allahabad
(C) YR Raipur (D) 31 TSR Andhra Pradesh

60.f . @ - Y : ? Image: View :: Book : ?
(A) RIS Buy (B) TXIHIaY Library
(C) Ue-T Reading (D) ferRaT Writing

61. fafTHRABRIP IUGHR TR oRId TS g
(A) 2 fagaiR
(B) 15 3T
(C) 26 SHARY
(D) 5 RydsR
[In which day is India's National Festival Mahatma Gandhi Jayanti celebrated?
(A) 2nd October
(B) 15th August
(C) 26th January
(D) 5th September]

62. YRAD RISTUTHIHIG?
(A) fewet
(B) 4%
(C) PIadmIdl
(D) I
[What is the capital of India?
(A) Delhi
(B) Mumbai
(C) Kolkata
(D) Chennai]
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63. PTG AHRAIB RIS AULG?
(A) HI]
(B) ST
(C) BTt
(D)
[Which wild animal is the national animal of India?
(A) Bear
(B) Tiger
(C) Elephant
(D) Lion]

EN

64. HITITHETS UGG IS SIHETEUG?
(A) TRm
(B) 3thIehT

(©) U

(D) ITRIMRBT

[Which continent is the largest continent in the world?
(A) Asia

(B) Africa

(C) Europe

(D) North America]

65. PITHISIRITIHGRIH T TG?
(A) e
(B) fasmareagia
(C) TSR
(D) fagyanforsawime=

[Which international organization is the United Nations?

(A) UNESCO
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(B) World Health Organization
(C) United Nations
(D) World Trade Organization]

66. &Waﬂﬂmﬁ?@ﬁ%7 Arjuna Awards are given for excellence in

which field?
(A) =T Cinema (B) 1 Literature
© @ﬁ-@ Sports (D) fasm Science

67. URABNIAUTIHaaIANGTUT?
(A) 1950
(B) 1947
(C) 1948
(D) 1952
[When was the Constitution of India implemented?
(A) 1950
(B) 1947
(C) 1948
(D) 1952]

68. SRTIhId@ISGIdIG?
(A) TS
(B) U
(C) UR
(D) ¥1g

[What is a ship made of?
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(A) Wood
(B) Water
(C) Stone

(D) Metal]

69. PITTIVISOT BT BIhg?
(A) WD

(B) U1d

(C) AP

(D) IR

[Which material is a good conductor of electricity?
(A) Plastic

(B) Metal

(C) Wood

(D) Rubber]

70, HRABRIY T eTeh T8 ?
(A) S1TH
(B) Tl
(OXE
(D) 3R
[What is the national fruit of India?
(A) Mango
(B) Banana
(C) Apple
(D) Grape]

EN N a
71. PIAHURdviclSdle?

(A) ST
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(B) BTl

(C) TR

(D) 3SR

[Which animal runs fast?
(A) Tiger

(B) Elephant

(C) Rabbit

(D) Flies]

72. AGHSATH TS STAURTIATR?
(A) dlg
(B) ST
(©) Uit
(D) &dl

[What surrounds the atmosphere?
(A) Flood

(B) Fire

(C) Water

(D) Air]

73. HRAB RIS IS TG ?

(A) BEg!
(B) fhore

(C) gt
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(D) Pedid

[What is the national sport of India?
(A) Kabaddi

(B) Cricket

(C) Hockey

(D) Football]

In N o Wlin N

74, TP IUH IS UBIUS YN IdIg?

(A) diasp

(B) Uyt

(C) PId

(D) g

[Which instrument is useful for music?
(A) Instrument player

(B) Pencil

(C) Nail

(D) Ball]

75. AU AG U AR ITATSIATG?
(A) T
(B) =R
(C) IR
(D) dTefid
[Where is the most water found?
(A) River
(B) Waterfall
(C) Ocean
(D) Pond]
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76. HITATIENISATR?
(A) TTTa
®) s
(C) 5
(D) HI
[Which bird flies?
(A) Cow
(B) Vulture
(C) Bull
(D) Bear]

AN o

77. QRSB A b oD T ] ?
(A) =
(B) YRd
(C) AR
(D) =9

[Which country has the highest population?
(A) China

(B) India

(C) USA

(D) Russia]

[V

78. BTSSR ?

(A) T
(B) Hew
(C) =R
(D) HY

[Which animal is wild?
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(A) Cow
(B) Sheep
(C) Lion
(D) Buffalo]

79. TP IITAUGAD I THTITRRATS STci g ?
(A) fedl
(B) 3SH

(C) HIGHTST

(D) fac=ftyre

[Which language is taught to children first?
(A) Hindi

(B) English

(C) Mother tongue

(D) Foreign language]

A Y 2N Y SN

80.‘1-IIQCIan{I\5I IGEAGRICAGRIGIRY
(A) faemaff

(B) T2

() ufsd

(D)

[Who is the leader of Indian politics?
(A) Student

(B) Teacher

(C) Priest

(D) Leader]
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81. HIRaRa®T [ 1[1[1[]

HIIR?
(A) BT
(B) deTIg!
) Us
(D) iU

[What is the MASCOT of Indian Railways?

(A) Elephant
(B) Fast train
(C) Tree

(D) Lamp]

82. QPRI SRS IATR?

(A) faam=
(B) SfgTof
(C) e

(D) WHT

[What is around the sun?

(A) Airplane
(B) Ship

(C) Sphere
(D) Planet

a3

83. YRABATHRIZUTA

D [d8? Who is current President of India?
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https://www.shabdkosh.com/hi/dictionary/english-hindi/mascot/mascot-meaning-in-hindi
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(A) Ram Nath Kovind JHATYIfdg (B) DroupadiMurmuZIaEIgH
(C) Narendra Modi R-&HIc! (D) Pratibha Patil IfaHTGdIRIgUTfed

84. lﬂﬁ%ﬁﬂ'ﬂﬁﬂﬂﬁﬁﬂ%” Who is India's current Finance Minister ?

(A) Smriti Irani F{ﬁl’s‘ﬂ:ﬁ (B) DroupadiMurmuaanJi
(C) Nirmala Sitharaman FHARIARTAT (D) Pratibha Patil GfayTGdIRiguTied

85. HRAHGATBA-RISTE? How many states are there in India ?
(A) 28 (B) 29 (C) 30 (D) 35

86. Hlidﬁ'gvcllraocﬁaf&-‘llImduafll%'? How many Union Territories are there in India ?
(A)7 (B) 8 ©9 (D) 10

87. @ﬂxﬁf@ﬁ%ﬂ@ﬁ@ﬁ%” Statue of unity is situated in which state ?
(A)TISIRId Gujrat (B) XIeIR{THRajsthan
(C) STRUGT Uttar Pradesh (D) USTId Punjab

88. &Hﬁ@ﬂﬂﬁm ic\bHi\ﬂHdlql\ﬂldI%? On which day 'International Women's Day' is

celebrated?
(A 89 March (B) 8RR February
© CEER]] January (D) 83T¥d August

89. Wﬁmﬂﬁﬁﬂmﬁﬁ?ﬂ%’) Where does most of the processing take place in a

computer?

(A) FIGREIS Motherboard  (B) HHIRT Memory (C) CPU (D) RAM

90. G\I'd)nlor>lvllg*|{i3b@id°6<\1§'? Who is called the magician of hockey?
(A ﬁWRVijay Kumar (B) HHLSITSamresh Jung
© WWMajor Dhyan Chand (D) Eﬁ@ﬁiﬂ'@ none of these
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91. HRAGAAHTIRAHAD 8?2 Who is the Railway Minister of India?

(A) UI¥TI@Piyush Goyal (B) WIcIATGdLalu Yadav
©) Sff-dwrgAshwini Vaishnav (D) SUARMEAMIt Shah

92, JTPTAFRAB I aUS [dITGRITd 6?2 What does the white stripe of the national flag tricolor

indicate?
(A) faeT3IRTGEVolution and Truth (B) TIET3iRfAB M Courage and Growth
(C) Rifa3iRI=EPeace and Truth (D) 3fIOthers

93. ReRwpa (Richter Scale) ﬁmwmﬁ%? The Richter Scale is used to measure what?

(A) W?ﬂa?ﬂthe intensity of the earthquake
(B) GTWTI%D the speed of the wind
(C) TGS 1TexTsthe depth of the sea

(D) IRIRBTAY the temperature of the body

94. GJdQTgnqu-l\slgilrade)delm\slldI%? When is International Labor Day celebrated?
(A 1D lon st February (B) 19=i®lon 1st March
© 130d®lon 1st April (D) 1@ on 1st May

~\

95. AHTHTHISHIGARE M [TE-IATHSHITG? What is the minimum age to be a candidate of Lok
Sabha?
(A) 25 (B) 30 (C) 35 (D) 18

96. TRTSTERTSTHRIG 3B RIS HTHEIUT? Who said that Swaraj is my birthright?
(A) TSSATIBTHR Ravindra Nath Thakur (B) A HMAfdId® Lokmanya Tilak
(C) dIdTeISIUdRTI Lala Lajpat Rai (D) HeTdRTIE Mahatma Gandhi

97. q?dnluﬁgmiaocl-ql-lslﬂlilﬁg? How many oceans are there on Earth?
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(A) 6 (B)9 (€5 (D) 4

98. AKAM HTYURETTITG? What is the full form of AKAM?
(A HTSTHTBTHATSTHT oday's work today

(B) JATSITEIBIHTITRIIdAzadi Ka Amrit Mahotsav

© TSP THERIthe great sacrifice of freedom

(D) Elﬁg:lﬁnone

99. AT aRATATHI TS S fh T Ia-TRIATe ? What is the core of the Earth's innermost part
made of?

(A HWWTG?IWCopper and Zinc  (B) A eranRdiaiNickel and Copper
(C) AET{RSITiron and zinc (D) TNET3MRMAFE Iron and Nickel

100. q%é’rqvﬁ—rraﬁwaaé%? Are there day and night on earth?
(A SPTaPHRUBecause of daily motion

(B) Y BIIBHRIT due to annual motion

© SHTG b HRUIduUe to half-way speed

(D) fAH M BRI Because of quarter motion

*khhhhkhkkkkhkhkhkihhhkhkhkkhkhkhiirhiihkhhiikx E nd********************************************
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